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rounds per minute (RPM) = 600 :im .1
sector size (S) = 256 bytes
block size (B) = 1,280 bytes
record size (R) = 80 bytes
number of blocks per track (nbt) = 25
transfer time rate - peak (t) = 3,600 "/,
number of cylinders per disk (ncd) = 729

Inter Sector Gap (ISG) :7"x

(1) pol 02000 _1.60:1000 o
2 RPM 2 600
(B+IB
(2) Trric :M:zr (ms) = Trpi =2-5=10,
t-T :
G ="TTRE _p  3600-10 4 50n_ 160 bytes
nbt
(3) ISG:E (bytes), nsb:E = nsbzﬂ:i ISG = ﬂ=32 bytes
nsb S 256 5

number of platters per disk (npd) = 8 m .2
sector size (S) = 256 bytes
average access time (a) = 12 ms
number of sectors per cylinder (nsc) = 320
inter sector gap (ISG) = 45.5 bytes
transfer time rate - peak (1) = 1.6 ™/, = 1,600 "/,

.(s) po'Ta yxin wion It 7"y

(4) number of tracks per cylinder =k=npd -2=8-2=16

(5) k-nst=nsc = nst:£2ﬂ220
k 16
(6) Tk = nst(S+ISG):2r N ,,:i.”St(SJrISG)21.320(256+45‘5):]_884375 ms

t 2 1,600
(7) a=s+r = s =a-r = 12-1.884375 = 10.115625 ms

Note: If all the disk surfaces are data surfaces then k = npd * 2. There are some disks (like servo) where
the 1-2 most external surfaces aren't data one and then k - 2 = npd * 2.

rounds per minute (RPM) = 3,600 :m .3
number of cylinders per disk (ncd) = 1,024
average access time (a) = 24.66 ms
minimal seek time (s1) = 4 ms
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(])3r:i'60~1,000

2 3,600
(7)= s=24.66-8.33=16.33 ms
(8) sj=s, = s.=4 ms

(9) 7:%:#:341.33

=8.33 ms

(10) s=s,+5-1 = 6=""3¢ 216354 _ ) 36 s
[ 34133
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